——
hﬁ\\

OBC

Oskoyi Ballbearing Company

Crossed Roller Stages (Feeding Screw Design) © X-Axis and XY-Axis © Aluminum Alloy
Crossed Roller Stages (Feeding Screw Design) | 70*70

MX70-AC-18 MX70-AS-18

MY70-AC-18 MY70-AS-18

Unit : mm
Model No Table Axis Feed Travel '\,42‘(?("‘“?,8‘ Straightness Al‘_lg):c’::ée Weight Material Surface
' Size Position | Stroke Rotation Accuracy (kgf) (kg) Finish
(um) (um) g
MX70-AC-18 Central
MX70-AS-18 AR 044
70-AS- ide .
70*70 +6.5 50 3 6 AIurﬂlnum Blgpkd
MY70-AC-18 Central alloy anodize
XY-axis 0.88
MY70-AS-18 Side

@ site : www.10BC.com (021) 33913364 - 33951660 : wili &)

R4 Email : Borhan772000@yahoo.com (021) 33985603 : u~S3 P4




1% 1\
OBC

Oskoyi Ballbearing Company

Crossed Roller Stages(Feeding Screw Design) © X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 70*70

MX70-AC-18 MX70-AS-18
30 30 30 30
20 | 20 20 | 20
‘ 15 | 15 M16x1.0x6L
8-M3x0.5
\ —|-|— 4 -M4x0.7°8L
=}
&7 Qw |
® ©
— s = 3
o N T -
(32] —_
‘ 70 ‘ PS1RC-13
— S I | 0 g70 PS1RC-13
.@W MX7D-AC-18 & ‘
ol O ° .5 \T o -
o)
\ (126.18 ) 3‘ S @ ]
~— \ O O |OE@® I |
( 88.28 | [ m.‘
4-9)5 ©
60 . p8raL
| |/
@] o @) o
o
©
MY70-AC-18 O 0 0 © MY70-AS-18
20 | 20 MX(Y)70-A-18
15| 15 M16x1.0x6L Mounting Dimensions 30 30
N - 8-M3x0.5 20 | 20
@/ | /4-M4x0.7°8L 15 1 15 M16x1.0x6L
v 8-M3x0.5
o] ol ‘ —— 4-M4x0 778
19) o @
| R @) % © T =
ol O N & s |
< ™ o
N © oo *© F:@ ©
) & ® o
& & S
1
Eg
070 070
\ |
7= o]
] PS1RC-13 @l N PS1RC-13
0 = T o °
3 = o I
- —= @ —=|
o o @ | |
”O’-‘ \ ( 107.28 ) [ g‘

D site : www.10BC.com

P2 Email :

Borhan772000@yahoo.com

(021) 33913364 - 33951660

P pali o)

(021) 33985603 : xS B




	Page 59
	Page 60

